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™ 1. Explain why the tnanghes are samilar and then find the values of ¥ and y.
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2. a) The moon is approvimately 15 000 km away. When o ruler is beld 56 cm
froven thie eve, the dameier of the moon appears 00 he 0.5 cm., What is the
ameter of the moon”
bl Dunaga ot eclipse, the sun aod moomn seem K be the same sige 5 the sun is

I 500 00 (W ke aweny. what 5 oty dinmeter?

1. Find
al mnldr B fan 15 ) tnkg® 4] madt®
4 Find oA
7
W omaA=14 B tands] €) 1 4 = 0.068 _:!;_.m
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7. & rectangle measures 3 cm by 4 om, Find she measuses of the
o scte angles Bormed a1 a veries by o diagosal. | &

B. A jiy wive Fibeioes 90 & from the buse of s slevision tower  © L
ks an sngle of 33° wath the ground How high ap the tower does the guy wire

reach?
¥ Find
0 3T b eos 667 €] coe 18 il) &e 48"
i Find £ A,
a) o d =031 b HaA=2059 o) sinA=080% 4 cord = DOT0

11 8] Ineach riangie, cabcubate sin A and cos 4.
by Find 24, .
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“Tiniss the meksares of the gcule angles

14, bn AABC, £ w90 and AC « 8.0, Find A8 s BC if

A} Lid=2R" by Ld =54 ) ot =40

" 1% From a distance of 60 o o grownsd Beved, the anghe of elevation of tie wap of »

fagpole s 127, Determvine the height of the Magpole tor the nearest tenth of & metre.

6. When the foal af a ladder is § 8 m from a wall, the angle formed by ihe iadder and
the ground i 72
4} How long ix the indder?
b) How high up the wall does the ladder reach?

(7, A tree casts s shadow 40 m long when the son's ravs are ot an sngle of 36”10 the
pround. How fall is che tnec?

IE From the top of o building 70 m high, the angle of depressson of a0 sutonobdle oo
wrdad is 27", How far is the sutomobile From cthe Bt of the ulding?

19, & broadeasting tower is 255 m bigh, How far from the base of the tovwer is a
surveyer whio observes That (he angle of elevation of 1 he g of 1he fove @5 3577

X Twoolfice wowers are 30 m agart. From the | $th Boor (40 m up) of the shorier
sawer, the angle of chevation of the top of the other kawee s 70, Find the
a} angle of depresiion of the hase of the talier wwer from 1he 131k Noo:
fri  beight af the e wwer
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